Fundamental Journal of Mathematics and Applications, 5 (3) (2022) 160-167

Research Article



# **Fundamental Journal of Mathematics and Applications**



Journal Homepage: www.dergipark.org.tr/en/pub/fujma ISSN: 2645-8845 doi: https://dx.doi.org/10.33401/fujma.1078410

# On the Bi-Periodic Mersenne Sequence

Gül Özkan Kızılırmak1\* and Dursun Taşcı1

<sup>1</sup>Department of Mathematics, Faculty of Science, Gazi University, Ankara, Turkey

\*Corresponding author

#### **Article Info**

#### Abstract

**Keywords:** Binet formula, Catalan identity, Generating function, Mersenne

numbers

**2010 AMS:** 11B83, 11K31 **Received:** 24 February 2022 **Accepted:** 2 May 2022

Available online: 1 September 2022

In this paper, the bi-periodic Mersenne sequence, which is a generalization of the Mersenne sequence, is defined. The characteristic function, generating function and Binet's formula for this sequence are obtained. Also, by using Binet's formula, some important identities and properties for the bi-periodic Mersenne sequence are presented.

### 1. Introduction

There are some studies about integer sequences in the literature [1]-[4]. Especially Mersenne primes are an active field in the number theory and computer science [5]. They are popular research objects because of their interesting representation in the binary system properties as  $(1)_2$ ,  $(11)_2$ ,  $(111)_2$ ,  $(111)_2$ ,.... The Mersenne numbers can also be defined as [6]

$$M_n + 2 = 3M_{n+1} - 2M_n$$

with the initial conditions  $M_0 = 0$  and  $M_1 = 1$ .

The roots of the respective characteristic equation  $r^2 - 3r + 2 = 0$  are  $r_1 = 2$  and  $r_2 = 1$  and we easily get the Binet formula

$$M_n = 2^n - 1$$
.

The first few terms of the Mersenne sequence are

$$M_n = \{0, 1, 3, 7, 15, 31, 63, 127, 255, 511, ...\}$$
 [7].

In many studies, generalizations of the integer sequences have been examined [8]-[15]. The bi-periodic Fibonacci sequence, which was introduced by Edson and Yayenie, have made an important contribution to the literature [16]. Inspired by this study, many new generalized sequences have been described [17]-[20].

The main purpose of this paper is to first define bi-periodic Mersenne sequence, to find the generating function and Binet formula, and then to present some identities that include the bi-periodic Mersenne sequence as a result of the corresponding Binet formula.



# 2. Bi-periodic Mersenne sequence

**Definition 2.1.** The bi-periodic Mersenne sequence  $\{m_n\}_{n=0}^{\infty}$  is defined by

$$m_0 = 0$$
,  $m_1 = 1$ ,  $m_n = \begin{cases} 3am_{n-1} - 2m_{n-2}, & \text{if } n \text{ is even;} \\ 3bm_{n-1} - 2m_{n-2}, & \text{if } n \text{ is odd.} \end{cases}$ ,  $n \ge 2$ .

where a and b are any two non-zero real numbers.

By setting a = b = 1, we get the classic Mersenne numbers.

The quadratic equation for the bi-periodic Mersenne sequence is defined as

$$x^2 - 3abx + 2ab = 0$$

with the roots

$$\alpha_1 = \frac{3ab + \sqrt{9a^2b^2 - 8ab}}{2}$$
 and  $\alpha_2 = \frac{3ab - \sqrt{9a^2b^2 - 8ab}}{2}$ . (2.1)

**Lemma 2.2.** The bi-periodic Mersenne sequence satisfies the following properties:

$$m_{2n} = (9ab - 4) m_{2n-2} - 4m_{2n-4},$$
  

$$m_{2n+1} = (9ab - 4) m_{2n-1} - 4m_{2n-3}$$

*Proof.* By using the recurrence relation for bi-periodic Mersenne sequence, we obtain  $m_{2n}$  and  $m_{2n+1}$  as follows:

$$m_{2n} = 3am_{2n-1} - 2m_{2n-2}$$

$$= 3a(3bm_{2n-2} - 2m_{2n-3}) - 2m_{2n-2}$$

$$= (9ab - 2)m_{2n-2} - 6am_{2n-3}$$

$$= (9ab - 2)m_{2n-2} - (2m_{2n-2} + 4m_{2n-4})$$

$$= (9ab - 4)m_{2n-2} - 4m_{2n-4}$$

and

$$\begin{array}{rcl} m_{2n+1} & = & 3bm_{2n} - 2m_{2n-1} \\ & = & 3b(3am_{2n-1} - 2m_{2n-2}) - 2m_{2n-1} \\ & = & (9ab-2)m_{2n-1} - 6bm_{2n-2} \\ & = & (9ab-2)m_{2n-1} - (2m_{2n-1} + 4m_{2n-3}) \\ & = & (9ab-4)m_{2n-1} - 4m_{2n-3}. \end{array}$$

**Lemma 2.3.** The roots  $\alpha_1$  and  $\alpha_2$  defined in (2.1) satisfy the following properties:

$$\begin{array}{rcl} \alpha_{1}\alpha_{2} & = & 2ab, \\ \alpha_{1+}\alpha_{2} & = & 3ab, \\ 3\alpha_{1}-2 & = & \frac{\alpha_{1}^{2}}{ab}, \\ 3\alpha_{2}-2 & = & \frac{\alpha_{2}^{2}}{ab}, \\ (3\alpha_{1}-2)(3\alpha_{2}-2) & = & 4. \end{array}$$

*Proof.* By using the definitions of  $\alpha_1$  and  $\alpha_2$ , the proof can be easily obtained.

**Theorem 2.4.** The generating function for the bi-periodic Mersenne sequence is

$$M(x) = \frac{x(1+2x^2+3ax)}{1-(9ab-4)x^2+4x^4}.$$

*Proof.*  $M(x) = m_0 + m_1 x + m_2 x^2 + ... + m_s x^s + ... = \sum_{k=0}^{\infty} m_k x^k$  is the formal power series representation of the generating function for  $\{m_n\}_{n=0}^{\infty}$ . If this series is multiplied by 3bx and  $2x^2$ , then we get

$$3bxM(x) = 3bm_0x + 3bm_1x^2 + \dots = 3\sum_{k=0}^{\infty} bm_kx^{k+1} = 3\sum_{k=1}^{\infty} bm_{k-1}x^k$$

and

$$2x^{2}M(x) = 2m_{0}x^{2} + 2m_{1}x^{3} + \dots = 2\sum_{k=0}^{\infty} m_{k}x^{k+2} = 2\sum_{k=2}^{\infty} m_{k-2}x^{k}.$$

So,

$$\left(1 - 3bx + 2x^2\right)M(x) = m_0 + m_1x - 3bm_0x + \sum_{k=2}^{\infty} \left(m_k - 3bm_{k-1} + 2m_{k-2}\right)x^k.$$
(2.2)

Since  $m_{2k+1} = 3bm_{2k} - 2m_{2k-1}$  and  $m_0 = 0$ ,  $m_1 = 1$ , we have

$$\left(1 - 3bx + 2x^2\right)M(x) = x + \sum_{k=1}^{\infty} (m_{2k} - 3bm_{2k-1} + 2m_{2k-2})x^{2k}.$$

 $m_{2k} = 3am_{2k-1} - 2m_{2k-2}$  implies that

$$\left(1 - 3bx + 2x^2\right)M(x) = x + 3(a - b)x \sum_{k=1}^{\infty} m_{2k-1}x^{2k-1}.$$

Now, we let

$$m(x) = \sum_{k=1}^{\infty} m_{2k-1} x^{2k-1}.$$

Then,

$$\left(1 - (9ab - 4)x^2 + 4x^4\right) m(x) = \sum_{k=1}^{\infty} m_{2k-1}x^{2k-1} - (9ab - 4)\sum_{k=2}^{\infty} m_{2k-3}x^{2k-1} + 4\sum_{k=3}^{\infty} m_{2k-5}x^{2k-1}$$

$$= m_1x + m_3x^3 - (9ab - 4)m_1x^3 + \sum_{k=3}^{\infty} \left(m_{2k-1} - (9ab - 4)m_{2k-3} + 4m_{2k-5}\right)x^{2k-1}.$$

From Lemma 2.2, we have  $m_{2n-1} = (9ab-4)m_{2n-3} - 4m_{2n-5}$ . By substituting this in the expression above, we get

$$\left(1 - (9ab - 4)x^2 + 4x^4\right)m(x) = x + (9ab - 2)x^3 - (9ab - 4)x^3 = x + 2x^3.$$

Therefore,

$$m(x) = \frac{x + 2x^3}{(1 - (9ab - 4)x^2 + 4x^4)}.$$

Substituting m(x) in M(x) gives

$$(1 - 3bx + 2x^2)M(x) = x + \left(3(a - b)x \frac{x + 2x^3}{(1 - (9ab - 4)x^2 + 4x^4)}\right).$$

After simplifying the above expression, we get the desired result

$$M(x) = \frac{x(1+2x^2+3ax)}{1-(9ab-4)x^2+4x^4}.$$

**Theorem 2.5.** The terms of the bi-periodic Mersenne are given by

$$m_n = rac{a^{1-\xi(n)}}{(ab)^{\left\lfloor rac{n}{2} 
ight\rfloor}} \left(rac{lpha_1^n - lpha_2^n}{lpha_1 - lpha_2} 
ight),$$

where  $\alpha_1$  and  $\alpha_2$  are as in (2.1), |b| is the floor function of b and  $\xi(n)$  is the parity function.

*Proof.* Using the partial fraction decomposition, we can write the generating function for the bi-periodic Mersenne sequence M(x) as

$$M(x) = \frac{1}{\alpha_1 - \alpha_2} \left[ \frac{\alpha_1 x + a(\frac{3\alpha_1 - 2}{2})}{2x^2 - (\frac{3\alpha_1 - 2}{2})} - \frac{\alpha_2 x + a(\frac{3\alpha_2 - 2}{2})}{2x^2 - (\frac{3\alpha_2 - 2}{2})} \right].$$

The Maclaurin series expansion of the function  $\frac{A-Bz}{z^2-C}$  is expressed in the form

$$\frac{A - Bz}{z^2 - C} = \sum_{n=0}^{\infty} BC^{-n-1}z^{2n+1} - \sum_{n=0}^{\infty} AC^{-n-1}z^{2n}.$$

So, M(x) can be written as

$$M(x) = \frac{1}{2(\alpha_1 - \alpha_2)} \left[ \sum_{n=0}^{\infty} \frac{(-\alpha_1)(\frac{3\alpha_2 - 2}{4})^{n+1} + \alpha_2(\frac{3\alpha_1 - 2}{4})^{n+1}}{(\frac{3\alpha_1 - 2}{4})^{n+1}(\frac{3\alpha_2 - 2}{4})^{n+1}} x^{2n+1} \right] + \frac{1}{2(\alpha_1 - \alpha_2)} \left[ \sum_{n=0}^{\infty} \frac{(2a)(\frac{3\alpha_2 - 2}{4})^n + (2a)(\frac{3\alpha_1 - 2}{4})^n}{(\frac{3\alpha_1 - 2}{4})^n(\frac{3\alpha_2 - 2}{4})^n} x^{2n} \right].$$

By using Lemma 2.3, we obtain

$$M(x) = \frac{1}{2(\alpha_{1} - \alpha_{2})} \left( \sum_{n=0}^{\infty} \frac{\frac{(-\alpha_{1})(\alpha_{2})^{2n+2}}{(4ab)^{n+1}} + \frac{\alpha_{2}(\alpha_{1})^{2n+2}}{(4ab)^{n+1}}}{\frac{1}{4^{n+1}}} \right) x^{2n+1}$$

$$-\frac{1}{2(\alpha_{1} - \alpha_{2})} \left( \sum_{n=0}^{\infty} \frac{\frac{(2a)(\alpha_{2})^{2n}}{(4ab)^{n}} - \frac{(2a)(\alpha_{1})^{2n}}{(4ab)^{n}}}{\frac{1}{4^{n}}} \right) x^{2n}$$

$$= \sum_{n=0}^{\infty} \frac{1}{(ab)^{n}} \frac{(\alpha_{1})^{2n+1} - (\alpha_{2})^{2n+1}}{\alpha_{1} - \alpha_{2}} x^{2n+1} + \sum_{n=0}^{\infty} \frac{a}{(ab)^{n}} \frac{(\alpha_{1})^{2n} - (\alpha_{2})^{2n}}{\alpha_{1} - \alpha_{2}} x^{2n}.$$

By the help of the parity function  $\xi(n)$ , it follows that

$$M(x) = \frac{a^{1-\xi(n)}}{(ab)^{\lfloor \frac{n}{2} \rfloor}} \left( \frac{\alpha_1^n - \alpha_2^n}{\alpha_1 - \alpha_2} \right) x^n.$$

Therefore, for all  $n \ge 0$ , we have

$$m_n = \frac{a^{1-\xi(n)}}{(ab)^{\lfloor \frac{n}{2} \rfloor}} \left( \frac{\alpha_1^n - \alpha_2^n}{\alpha_1 - \alpha_2} \right).$$

**Theorem 2.6.** (Catalan's Identity) For any two nonnegative integer n and r, with  $r \le n$ , we get

$$a^{\xi(n-r)}b^{1-\xi(n-r)}m_{n-r}m_{n+r}-a^{\xi(n)}b^{1-\xi(n)}m_n^2=-\left(2^{n-r}\right)a^{\xi(r)}b^{1-\xi(r)}m_r^2.$$

*Proof.* Using the Binet's formula, we obtain

$$\begin{array}{lcl} a^{\xi(n+r)}b^{1-\xi(n-r)}m_{n-r}m_{n+r} & = & a^{\xi(n+r)}b^{1-\xi(n-r)}\frac{a^{1-\xi(n-r)}}{(ab)^{\left\lfloor\frac{n-r}{2}\right\rfloor}}\left(\frac{\alpha_{1}^{n-r}-\alpha_{2}^{n-r}}{\alpha_{1}-\alpha_{2}}\right)\frac{a^{1-\xi(n+r)}}{(ab)^{\left\lfloor\frac{n+r}{2}\right\rfloor}}\left(\frac{\alpha_{1}^{n+r}-\alpha_{2}^{n+r}}{\alpha_{1}-\alpha_{2}}\right)\\ & = & \left(\frac{a^{2-\xi(n-r)}b^{1-\xi(n-r)}}{(ab)^{n-\xi(n-r)}}\right)\left(\frac{\alpha_{1}^{n-r}-\alpha_{2}^{n-r}}{\alpha_{1}-\alpha_{2}}\right)\left(\frac{\alpha_{1}^{n+r}-\alpha_{2}^{n+r}}{\alpha_{1}-\alpha_{2}}\right)\\ & = & \left(\frac{a}{(ab)^{n-1}}\right)\left(\frac{\alpha_{1}^{2n}-(\alpha_{1}\alpha_{2})^{n-r}(\alpha_{1}^{2r}+\alpha_{2}^{2r})+\alpha_{2}^{2n}}{(\alpha_{1}-\alpha_{2})^{2}}\right) \end{array}$$

and

$$\begin{split} a^{\xi(n)}b^{1-\xi(n)}m_n^2 &= a^{\xi(n)}b^{1-\xi(n)}\left(\frac{a^{2-2\xi(n)}}{(ab)^{2\left\lfloor\frac{n}{2}\right\rfloor}}\right)\left(\frac{\alpha_1^{2n}-2(\alpha_1\alpha_2)^n+\alpha_2^{2n}}{(\alpha_1-\alpha_2)^2}\right) \\ &= \left(\frac{a}{(ab)^{2\left\lfloor\frac{n}{2}\right\rfloor+\xi(n)-1}}\right)\left(\frac{\alpha_1^{2n}-2(\alpha_1\alpha_2)^n+\alpha_2^{2n}}{(\alpha_1-\alpha_2)^2}\right) \\ &= \left(\frac{a}{(ab)^{n-1}}\right)\left(\frac{\alpha_1^{2n}-2(\alpha_1\alpha_2)^n+\alpha_2^{2n}}{(\alpha_1-\alpha_2)^2}\right). \end{split}$$

164

So,

$$\begin{array}{lcl} a^{\xi(n+r)}b^{1-\xi(n-r)}m_{n-r}m_{n+r}-a^{\xi(n)}b^{1-\xi(n)}m_{n}^{2} & = & \left(\frac{a}{(ab)^{n-1}}\right)\left(\frac{2(\alpha_{1}\alpha_{2})^{n}-(\alpha_{1}\alpha_{2})^{n-r}(\alpha_{1}^{2r}+\alpha_{2}^{2r})}{(\alpha_{1}-\alpha_{2})^{2}}\right)\\ & = & \left(\frac{a}{(ab)^{n-1}}\right)\left(\frac{(\alpha_{1}\alpha_{2})^{n-r}(2(\alpha_{1}\alpha_{2})^{r}-\alpha_{1}^{2r}-\alpha_{2}^{2r}))}{(\alpha_{1}-\alpha_{2})^{2}}\right)\\ & = & \left(\frac{-a}{(ab)^{n-1}}\right)(\alpha_{1}\alpha_{2})^{n-r}\left(\frac{\alpha_{1}^{2r}+\alpha_{2}^{2r}-2(\alpha_{1}\alpha_{2})^{r})}{(\alpha_{1}-\alpha_{2})^{2}}\right)\\ & = & \left(\frac{-a}{(ab)^{n-1}}\right)(2ab)^{n-r}\left(\frac{\alpha_{1}^{r}-\alpha_{2}^{r}}{\alpha_{1}-\alpha_{2}}\right)^{2}\\ & & -(a)^{2\xi(r)-1}(ab)^{1-\xi(r)}\left(2^{n-r}\right)m_{r}^{2}\\ & = & -\left(2^{n-r}\right)a^{\xi(r)}b^{1-\xi(r)}m_{r}^{2}. \end{array}$$

**Theorem 2.7.** (Cassini's Identity) The following equality holds

$$a^{1-\xi(n)}b^{\xi(n)}m_{n-1}m_{n+1}-a^{\xi(n)}b^{1-\xi(n)}m_n^2=-a(2^{n-1}),$$

where n is any nonnegative integer.

*Proof.* In Catalan's identity, if we take r = 1, we get Cassini's identity. So, the proof can be obtained from the relevant identity.

**Theorem 2.8.** (d'Ocagne's Identity) For any two nonnegative integer n and r, with  $r \le n$ , we have

$$a^{\xi(nr+n)}b^{\xi(nr+r)}m_nm_{r+1}-a^{\xi(nr+r)}b^{\xi(nr+n)}m_{n+1}m_r=2^ra^{\xi(n-r)}m_{n-r}.$$

Proof. There are such equations

$$\xi(n+1) + \xi(r) - 2\xi(nr+r) = \xi(n) + \xi(r+1) - 2\xi(nr+n) = 1 - \xi(n-r)$$
(2.3)

and

$$\xi(n-r) = \xi(nr+n) + \xi(nr+r) \tag{2.4}$$

for the floor function defined as  $\xi(n) = n - 2 \left| \frac{n}{2} \right|$ .

Using the Binet's formula, (2.3) and (2.4), it follows that

$$a^{\xi(nr+n)}b^{\xi(nr+r)}m_nm_{r+1} = \frac{a}{(ab)^{(n+r-\xi(n-r))/2}}\frac{\alpha_1^{n+r+1} + \alpha_2^{n+r+1} - (\alpha_1\alpha_2)^r(\alpha_1^{n-r}\alpha_2 + \alpha_1\alpha_2^{n-r})}{(\alpha_1 - \alpha_2)^2}$$

and

$$a^{\xi(nr+r)}b^{\xi(nr+n)}m_{n+1}m_r = \frac{a}{(ab)^{(n+r-\xi(n-r))/2}} \frac{\alpha_1^{n+r+1} + \alpha_2^{n+r+1} - (\alpha_1\alpha_2)^r(\alpha_1^{n-r+1} + \alpha_2^{n-r+1})}{(\alpha_1 - \alpha_2)^2}.$$

So,

$$a^{\xi(nr+n)}b^{\xi(nr+r)}m_{n}m_{r+1} - a^{\xi(nr+r)}b^{\xi(nr+n)}m_{n+1}m_{r} = \frac{a}{(ab)^{(n+r-\xi(n-r))/2}}(\alpha_{1}\alpha_{2})^{r}\frac{(\alpha_{1}^{n-r+1} + \alpha_{2}^{n-r+1} + \alpha_{1}^{n-r}\alpha_{2} - \alpha_{1}\alpha_{2}^{n-r})}{(\alpha_{1} - \alpha_{2})^{2}}$$

$$= \frac{a}{(ab)^{(n+r-\xi(n-r))/2}}\frac{(\alpha_{1}^{n-r} - \alpha_{2}^{n-r})(\alpha_{1} - \alpha_{2})}{(\alpha_{1} - \alpha_{2})^{2}}$$

$$= 2^{r}a^{\xi(n-r)}m_{n-r}.$$

**Theorem 2.9.** (Honsberger Identity) For any two nonnegative integer n and r, with  $r \le n$ , we have

$$\left( a^{\xi(nr+n)} b^{\xi(nr+r)} - \frac{1}{\alpha_1 \alpha_2} \frac{a^{\xi(r+1)-\xi(n)-1}}{(ab)^{\xi(nr+n)}} \right) m_n m_{r+1} + \left( a^{\xi(nr+r)} b^{\xi(nr+n)} - (\alpha_1 \alpha_2) \frac{a^{\xi(r)+\xi(n-1)-1}}{(ab)^{\xi(nr+r)+1}} \right) m_{n-1} m_r$$

$$= \frac{(\alpha_1^{-1} + \alpha_1)(-\alpha_2^{-1} - \alpha_2)}{\alpha_1 - \alpha_2} a^{\xi(n+r)} m_{n+r}.$$

*Proof.* Using the Binet's formula, (2.3) and (2.4), we obtain

$$a^{\xi(nr+n)}b^{\xi(nr+r)}m_nm_{r+1} = \frac{a}{(ab)^{(n+r-\xi(n-r))/2}} \frac{\left(\alpha_1^{n+r+1} + \alpha_2^{n+r+1} - \alpha_1^{r+1}\alpha_2^n - \alpha_1^n\alpha_2^{r+1}\right)}{(\alpha_1 - \alpha_2)^2}$$

and

$$a^{\xi(nr+r)}b^{\xi(nr+n)}m_{n-1}m_r = \frac{a}{(ab)^{(n+r-\xi(n-r))/2}} \frac{\left(\alpha_1^{n+r-1} + \alpha_2^{n+r-1} - \alpha_1^r\alpha_2^{n-1} - \alpha_1^{n-1}\alpha_2^r\right)}{(\alpha_1 - \alpha_2)^2}.$$

So, we get

$$\begin{split} a^{\xi(nr+n)}b^{\xi(nr+r)}m_{n}m_{r+1} + a^{\xi(nr+r)}b^{\xi(nr+n)}m_{n-1}m_{r} &= \frac{a}{(ab)^{\frac{n+r-\xi(n-r)}{2}}}\frac{(\alpha_{1}^{n+r} - \alpha_{2}^{n+r})(-\alpha_{2}^{-1} - \alpha_{2})(\alpha_{1}^{-1} + \alpha_{1})}{(\alpha_{1} - \alpha_{2})^{2}} \\ &\quad + \frac{\alpha_{1}^{n+r}(\alpha_{2}^{-1} + \alpha_{2}) + \alpha_{2}^{n+r}(\alpha_{1}^{-1} + \alpha_{1}) - (1 + \alpha_{1}\alpha_{2})(\alpha_{1}^{r}\alpha_{2}^{n-1} + \alpha_{2}^{r}\alpha_{1}^{n-1})}{(\alpha_{1} - \alpha_{2})^{2}} \\ &= \frac{a}{(ab)^{\frac{n+r-\xi(n-r)}{2}}}\frac{(-\alpha_{2}^{-1} - \alpha_{2})(\alpha_{1}^{-1} + \alpha_{1})}{\alpha_{1} - \alpha_{2}}\frac{(ab)^{\left\lfloor \frac{n+r}{2} \right\rfloor}}{a^{1-\xi(n+r)}}m_{n+r} \\ &\quad + \frac{(\alpha_{1}^{r}\alpha_{2}^{-1} - \alpha_{1}^{-1}\alpha_{2}^{r})}{\alpha_{1} - \alpha_{2}}\frac{(ab)^{\left\lfloor \frac{n}{2} \right\rfloor}}{a^{1-\xi(n)}}m_{n} + \frac{(\alpha_{1}^{r+1}\alpha_{2} - \alpha_{1}\alpha_{2}^{r+1})}{\alpha_{1} - \alpha_{2}}\frac{(ab)^{\left\lfloor \frac{n-1}{2} \right\rfloor}}{a^{1-\xi(n-1)}}m_{n-1} \\ &= (\frac{(-\alpha_{2}^{-1} - \alpha_{2})(\alpha_{1}^{-1} + \alpha_{1})}{\alpha_{1} - \alpha_{2}})a^{\xi(n+r)}m_{n+r} + \frac{1}{\alpha_{1}\alpha_{2}}\frac{a^{\xi(r+1) - \xi(n) - 1}}{(ab)^{\xi(nr+n)}}m_{n}m_{r+1} \\ &\quad + (\alpha_{1}\alpha_{2})\frac{a^{\xi(r) + \xi(n-1) - 1}}{(ab)^{\xi(nr+r) + 1}})m_{n-1}m_{r}. \end{split}$$

Hence, we obtain

$$\left( a^{\xi(nr+n)} b^{\xi(nr+r)} - \frac{1}{\alpha_1 \alpha_2} \frac{a^{\xi(r+1)-\xi(n)-1}}{(ab)^{\xi(nr+n)}} \right) m_n m_{r+1} + \left( a^{\xi(nr+r)} b^{\xi(nr+n)} - (\alpha_1 \alpha_2) \frac{a^{\xi(r)+\xi(n-1)-1}}{(ab)^{\xi(nr+r)+1}} \right) m_{n-1} m_r$$

$$= \frac{(\alpha_1^{-1} + \alpha_1)(-\alpha_2^{-1} - \alpha_2)}{\alpha_1 - \alpha_2} a^{\xi(n+r)} m_{n+r}. \quad \Box$$

**Theorem 2.10.** (Sums Involving Binomial Coefficient) For any nonnegative integer r, we have

$$\sum_{s=0}^{r} {r \choose s} (-2)^{r-s} (3^s) (ab)^{\left\lfloor \frac{s}{2} \right\rfloor} a^{\xi(s)} m_s = m_{2r}$$

and

$$\sum_{s=0}^{r} {r \choose s} (-2)^{r-s} (3^{s}) (ab)^{\left\lfloor \frac{s+1}{2} \right\rfloor} a^{\xi(s+1)-1} m_{s+1} = m_{2r+1}.$$

*Proof.* For any integer s, we have

$$(ab)^{\left\lfloor \frac{s}{2}\right\rfloor}a^{\xi(s)}m_s=a\left(\frac{\alpha_1^s-\alpha_2^s}{\alpha_1-\alpha_2}\right).$$

By using this equality above, we get

$$\sum_{s=0}^{r} {r \choose s} (-2)^{r-s} (3^{s}) (ab)^{\lfloor \frac{s}{2} \rfloor} a^{\xi(s)} m_{s} = \sum_{s=0}^{r} {r \choose s} (-2)^{r-s} (3^{s}) a \left( \frac{\alpha_{1}^{s} - \alpha_{2}^{s}}{\alpha_{1} - \alpha_{2}} \right) \\
= \frac{a}{\alpha_{1} - \alpha_{2}} \left[ \sum_{s=0}^{r} {r \choose s} (-2)^{r-s} (3\alpha_{1})^{s} - \sum_{s=0}^{r} {r \choose s} (-2)^{r-s} (3\alpha_{2})^{s} \right] \\
= \frac{a}{\alpha_{1} - \alpha_{2}} \left[ (3\alpha_{1} - 2)^{r} - (3\alpha_{2} - 2)^{r} \right] \\
= \frac{a}{\alpha_{1} - \alpha_{2}} \left[ \left( \frac{\alpha_{1}^{2}}{ab} \right)^{r} - \left( \frac{\alpha_{2}^{2}}{ab} \right)^{r} \right] \\
= \frac{a}{(ab)^{r}} \left( \frac{\alpha_{1}^{2r} - \alpha_{2}^{2r}}{\alpha_{1} - \alpha_{2}} \right) \\
= m_{2r}.$$

Also,

$$\sum_{s=0}^{r} {r \choose s} (-2)^{r-s} (3^{s}) (ab)^{\left\lfloor \frac{s+1}{2} \right\rfloor} a^{\xi(s+1)-1} m_{s+1} = \sum_{s=0}^{r} {r \choose s} (-2)^{r-s} (3^{s}) a \left( \frac{\alpha_{1}^{s+1} - \alpha_{2}^{s+1}}{\alpha_{1} - \alpha_{2}} \right) \\
= \frac{1}{\alpha_{1} - \alpha_{2}} \left[ \alpha_{1} \sum_{s=0}^{r} {r \choose s} (-2)^{r-s} (3\alpha_{1})^{s} - \alpha_{2} \sum_{s=0}^{r} {r \choose s} (-2)^{r-s} (3\alpha_{2})^{s} \right] \\
= \frac{1}{\alpha_{1} - \alpha_{2}} \left[ \alpha_{1} (3\alpha_{1} - 2)^{r} - \alpha_{2} (3\alpha_{2} - 2)^{r} \right] \\
= \frac{1}{\alpha_{1} - \alpha_{2}} \left[ \alpha_{1} \left( \frac{\alpha_{1}^{2}}{ab} \right)^{r} - \alpha_{2} \left( \frac{\alpha_{2}^{2}}{ab} \right)^{r} \right] \\
= \frac{1}{(ab)^{r}} \left( \frac{\alpha_{1}^{2r+1} - \alpha_{2}^{2r+1}}{\alpha_{1} - \alpha_{2}} \right) \\
= m_{2r+1}.$$

**Theorem 2.11.** The nonnegative terms of the bi-periodic Mersenne sequence are defined in terms of the positive terms as

$$m_{-n} = -2^{-n}m_n$$
.

*Proof.* By using the Binet's formula, we obtain

$$m_{-n} = \frac{a^{1-\xi(-n)}}{(ab)^{\lfloor \frac{-n}{2} \rfloor}} \left( \frac{\alpha_1^{-n} - \alpha_2^{-n}}{\alpha_1 - \alpha_2} \right)$$

$$= \frac{a^{1-\xi(-n)}}{(ab)^{\lfloor \frac{-n}{2} \rfloor}} \left( \frac{\alpha_2^n - \alpha_1^n}{(\alpha_1 \alpha_2)^n (\alpha_1 - \alpha_2)} \right)$$

$$= \frac{a^{1-\xi(n)}}{2^n (ab)^n (ab)^{\lfloor \frac{-n}{2} \rfloor}} \left( \frac{\alpha_2^n - \alpha_1^n}{\alpha_1 - \alpha_2} \right)$$

$$= \frac{-a^{1-\xi(n)}}{2^n (ab)^{\lfloor \frac{-n}{2} \rfloor}} \left( \frac{\alpha_1^n - \alpha_2^n}{\alpha_1 - \alpha_2} \right)$$

$$= -2^{-n} m_n.$$

#### 3. Conclusion

In this paper, we define bi-periodic Mersenne sequence, which is called bi-periodic Mersenne sequence. We obtain some properties for this sequence such as Binet formula, generating function, Catalan, Cassini, d'Ocagne and Honsberger identities.

# Acknowledgements

The authors would like to express their sincere thanks to the editor and the anonymous reviewers for their helpful comments and suggestions.

# **Funding**

There is no funding for this work.

# Availability of data and materials

Not applicable.

# **Competing interests**

The authors declare that they have no competing interests.

#### **Author's contributions**

All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

#### References

- [1] E. Özkan, A. Aydoğdu, İ. Altun, Some identities for a family of Fibonacci and Lucas numbers, J. Math. Stat. Sci., 3 (2017), 295-303.
- S. Çelik, İ. Durukan, E. Özkan, New recurrences on Pell numbers, Pell-Lucas numbers, Jacobsthal numbers, and Jacobsthal-Lucas numbers, Chaos Solitons Fractals, **150** (2021), 111173.
- [3] E. Özkan, N. Ş. Yilmaz, A. Włoch, On F3(k,n)-numbers of the Fibonacci type, Bol. Soc. Mat. Mex., 27 (2021), 77.
- [4] T. Koshy, Pell and Pell-Lucas Numbers with Applications, Springer, New York, 2014.
- [5] E. Özkan, M. Uysal, Mersenne-Lucas hybrid numbers, Math. Montisnigri, 52 (2021), 17-29
- [6] P. Catarino, H. Campos, P. Vasco, On the Mersenne sequence, Ann. Math. Inform., 46 (2016),37-53
- [7] T. Koshy, Fibonacci and Lucas Numbers with Applications, John Wiley and Sons Inc., New York, 2001.
- [8] A. F. Horadam, A generalized Fibonacci sequence, Amer. Math. Monthly, 68 (1961), 455-459.
- [9] G. Özkan Kızılırmak, On some identities and Hankel matrices norms involving new defined generalized modified Pell numbers, J. New Results Sci., 10 (2021), 60-66.
- [10] G. Bilgici, New generalizations of Fibonacci and Lucas numbers, Appl. Math. Sci., 8 (2014), 1429-1437.
- [11] S. Falcon, A. Plaza, On the Fibonacci k-numbers, Chaos Solitions Fractals, 32 (2007), 1615-1624.
- [12] A. Szynal-Liana, A. Włoch, I. Włoch, On generalized Pell numbers generated by Fibonacci and Lucas numbers, Ars Combin., 115 (2014), 411-423.
- [13] N. Yılmaz, A. Aydoğdu, E. Özkan, Some properties of k-generalized Fibonacci numbers, Math. Montisnigri, 50 (2021), 73-79.
- [14] P. Catarino, On some identities for k-Fibonacci sequence, Int. J. Contemp. Math. Sci., 9 (2014), 37-42.
- [15] S. P. Pethe, , C. N. Phadte, A generalization of the Fibonacci sequence, Appl. Fibonacci Numbers, 5 (1992), 465-472.
- [16] O. M. Yayenie, A. Edson, New generalization of Fibonacci sequences and extended Binet's formula, Integers, 9 (2009), 639-654.
- [17] D. Tasci, E. Sevgi, Bi-periodic Balancing numbers, J. Sci. Arts, 1 (2020), 75-84.
- [18] S. Uygun, E. Owusu, A new generalization of Jacobsthal Lucas numbers, J. Adv. Math. Comput. Sci., 7 (2016), 28-39.
- [19] J. L. Ramírez, Bi-periodic incomplete Fibonacci sequences, Ann. Math. Inform., 42 (2013), 83–92.
   [20] S. Uygun, H. Karatas, A new generalization of Pell-Lucas numbers (Bi-periodic Pell-Lucas sequence), Commun. Math. Appl., 10 (2019), 469–479.